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Note : There are THREE sections in the paper A, B and C.

i) Qe T X GG 1 % @ 10 ¥ % I AT | S9F 97T T S 8
Gt 10 4T FEGAE YHFR F G % 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT & & 8 ve1 4 8 f5#1 6 gwi & Ja7 AT | I F F9H 3 b F 8 T
37T 5 T / 50 Il H I GIT |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

iv) QT @ F 6 5wl 7 @ fd] 4 FEHl F I AT | TeIF 5 8 3 &1 8 wd
77 15 @ / 150 WGl 4 It G |
Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 1 50 words.

(v) e GF9A & G 5o HFAAR e Gre 8T AT |
Solve all the questions of a section consecutively together.

(vi) ﬁwﬁﬁmﬁ##@ﬁ#aﬁsﬁmfﬁm? /

Only English version is valid in case of difference in both the languages.

FFH -1
SECTION - A
1. () %) FHYER H AW Y WeE H FE& 3 amseqe WeE Hi qEA
AR |
(@) 2,2 (b) 22,22
(¢c) W, (d W, ™
2*%2 coupler has number of input ports and of output ports
respectively.
(@ 2,2 (b) 22,22
(c) M,N (dy MM

(1 of 4) P.T.O.
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(i) @fem a2 |
(a) O TE H 70T @ U = i fautia feunsdi § s a2 |
(b) wmafaa wifea 1 Fafta wfdd @ 39
(c) amafaa e =1 wafda wifadd & 39
(d) I H & HIE T

Insertion loss is

(a) The difference in the power loss when a component is measured in reverse
directions.

(b) The ratio of incident power to transmitted power.
(¢) The ratio of incident power to reflected power.
(d) None of the above

(if) T IYH N G Tl i fawfa i wfora e % fere s foman s 2,
(a) HTHet BIFE HIH (b) AL HIZET TATZH
(¢) HATThel B Hael (d) FHifeewe mEEAS

The device that is used for dividing and combining optical signals is called

(a) Optical fiber coupler (b) Optical fiber splice
(¢c) Optical fiber connector (d) Optical isolator
(iv) HTEaR Hife® e H amd g Fefafga g a s aam 2 7
(a) I % JHEH | 3al 9@ Ueh ueeh i fquita feensii & o s 2 |
(by  3mafea wifea = dafta wfda 5 sum@
(c) afaa wifea =1 qwafda wifea | 9@
(d) I |t
The return loss of a fiber optic component is which of the following measurements ?

(a) The difference in the power loss when a component is measured in reverse
directions.

(b) The ratio of incident power to transmitted power.
(¢) The ratio of incident power to reflected power.
(d) All of the above

(v) frefafiaa § 3 1 SR F Ayads gadhic & gGd Tl 2 7

(a) aTw gftEd (b) gama fada

(c) waf e (d) 3IutrEm |t

Which of the following can change the refractive index of the fiber ?
(a) Temperature change (b) Pressure change

(c) Sound waves (d) All of the above
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(vi) s B 21 i W Uk ETY 3 Tl oh GO bt SIH{ <Al R |
(a) Tewtegem (b) HeIEATRT
(c) EmedrfaE (d) wiggeTH
allows simultaneous transmission of multiple signals across a single
data link.
(a) Demodulation (b) Multiplexing
(c) quultiplcxing (d) Modulation
(vii) mmmﬁm@éﬁmmﬁﬁ 7
(a) THETH (by HEw
(c) s=géiTm (d) It § @ HIE TE
Which multiplexing technique involves signals composed of light beams ?
(a) FDM (by TDM
(c) .WDM ‘ (d) None of the above
(viii) o1 Edeeiieral oA H % fore T ge 30T Eg & a0 HAR
&1 =R |
(a) TEQ (b) 3=
(c) wId (d) YAHIH

The phase difference between the local oscillator and the source must be

for high sensitivity reception.

(a) deep (b) high
(c) direct (d) near zero
(ix) &1 vyraré ¥ feru rag wifsha Y s 2 |
(a) HaE (b) gdH
(c) fToien ¥ fiwae (d) IvuEa @+
Power margin is needed to compensate for :
(a) dispersion (b) polarization
(¢c) degradation in link (d) All of the above
(x) dEEEATFE 3I9F HTT 2 |
(a) e EE (T 3 W EAR) (b) I HAR
(c) JUEHIAN (d) It gt

Wireless optics uses . .
(a) Line of sight communication (b) Microwave communication
(c) Satellite communication (d)  All of the above

Yo —
SECTION-B
5. Hueas AigeH % o fafE |

Write the advantages of indirect modulation.

3. gETd TEEH ol SEE %1 FHHATST |
Explain concept of coherent detection.

(1x10)

(3)

3)
P.T.O.
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4. FATewHd Gt #1287
What is Optical Circulator ?
5. ergdfaes fua feeamansd 2 7
What is the function of dielectric thin filter ?
6.  WDM & 33w &1 fafiay |
Write down the applications of WDM.
7. foren fesmea d firen wiftia % wawa @1 gwemee |
Explain the significance of system margin in system design.
8.  SAT WehIfIrEhl & HIY w1 qHIA B 7

10.

1t.

12.

13.

14.

15.

What do you understand by wireless optics ?

AT 3TreR BIgat (AN UF G BIgat) =12 7
What is Radio over Fiber (RF over Fiber) ?

e — i
SECTION -C
Fuert & I fafi= wufein aifaai #t Gaw 3§ guzmu |

Explain in brief various coupling losses associated with coupler.

fom 1 wara & gEa sifewa vram awie F ausgu |

Explain coherent optical detection technique with the help of diagram.

Hiewa fawen fesmea # wgs aren awe 6 srem Hif |

Explain rise time budget in optical system design.

daciy fedfiom nedieifaem @ 2 7 38 fag 6 gema @ guemso |

What is wavelength division multiplexing ? Explain it with the help of diagram.

it fowen fesme 4 fafim fesmea feam a2 7

What are the various design considerations in optical system design ?

foeft vah wifsr wabiferes wees ) same difv |

Explain any one active optical component.

e
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3)

3)

(3)

3)

3)

3)

8)

(3)

(8

(&)

8)

(8)



